
 

1 Maths, 3rd, Annual (2020)  Name: _____________________, ID:_______________________ 

Q. No. 1: Encircle the correct option:    /10 

1) The area of a rectangle = ___________ 

a) Length x length b) Length x width c) Length + width 

2) The symbol of perpendicular is _________. 

a)   b) || c) < 

3) 18   6 = __________ 

a) 4 b) 2 c) 3 

4) The simplest form of 
 

  
 = ____________ 

a) ¼  b) 1/3  c) 4/3  

5) There are __________ minutes in one hour. 

a) 30 b) 60 c) 40 

6) 1km = _____________m 

a) 100 b) 1000 c) 10 

7) _________ is used to measure the mass of heavier object. 

a) Kilogram b) Litre c) Metre 

8) 12 + 45 = ___________ 

a) 60 b) 54 c) 57 

9) 3 x 9 = ___________ 

a) 27 b) 21 c) 20 

10) We write remainder as _______. 

a) Q b) R c) D 

Q. No. 2: Define obtuse angle.    /3 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

Q. No. 3: Divide these:     /4 

               

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

________________________________________________________________________

________________________________________________________________________
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Q. no. 4: A water cooler has 8500 ml of water in it. A jug has 2200ml of water. How much 

less water does the jug have than the water cooler?   /5 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

Q. No. 5: How much angles there are in each shape.   /4 

 

 

 

 

 

 

 

Q. No. 6: Match the column.    /6 

3012 Eight thousand five hundred and seven 

8507 Six thousand, four hundred and fifty five 

6455 Three thousand and twelve 

Q. No. 7: Subtract these:     /3 

 

 
 
 

 
 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

Q. No. 8: Fill in the blanks with correct place value of the digits.  /3 

1) 8724 = _______ + 700 + 20 + _____ 

2) 2005 = _______ + 0 + 0 + 5 

3) 9999 = _______ + ______ + 90 + _____ 

Q. No. 9: Add by mental calculation:    /3 

28 + 19 

________________________________________________________________________

________________________________________________________________________ 

Q. No. 10: Multiply these:    /4 

 

 

 

 

 

 

    2     2 

x         4 

    

    3     2     1 

x                3 

    


